Graphing in Intercept Form - May4, 2015

Graph

y={x+1(x+3)

Find your x-intercepts

(when y= 0}
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Find your y-intercept ' . : .,L;f
{(when x=0)

Y=(0+ N{o+r3)

Find your line of symmetry:
{midway point since parabolas are symfnetrical)
Add both intercepts and divide by 2 to find midd]e
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Find your vertex point:

{Substitute x in from line of symmetry)
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Graph

y = (x=5)(x—3)
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Find your x-intercepts
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(when y=0)

X =5 =0 L= = O «
o= B Fom

TR IR i

Find your y-intercept
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(when x=0)

Y= (=55 O~ “)
Y=o &, =73
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Find your line of symmetry:
(midway point since parabolas are symmetrical)

Add both intercepts and divide by 2 to find middle
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Find your vertex point:

(Substitute x in from fine of symmetry)

g=(u-sd0y-2y L=



Graphing in Intercept Form

Graph

y={x+2){x+6)

_Find your x-intercepts

{when y=0)
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Find your y-intercept

(when x=0)

Find your line of symmetry:

{midway point since parabolas are symmetrical)
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Add both intercepts and divide by 2 to find middle
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Find.your vertex point;

(Substitute x in from line of symmetry)
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‘- Graph

y=x-3)x-7)
Find your x-intercepts |
(when y=0) a
X320 Y -7 0O e
Find your y-intercept “:,},- ” {
(when x=0)
- 23 Y

y=(o-3)(0-7)

Yy=2)
Find your line of symmetry:
{midway point since parabolas are symmetrical)
Add both intercepts and divide by 2 to find middie
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Find your vertex point:
{Substitute x in from line of symmetry} !
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Graphing in Intercept Form

Graph

y=(x=3)(x=7)

Find your x-intercepts

{when y=0)

X-220 y-7-20

Find your y-intercept

(when x=0)

y=(o-2){0-7)
Y4=2)
Find your line of symmetry:

{midway point since parabolas are symmetrical)

Add both intercepts and divide by 2 to find middle

e,

Find your vertex point:

{Substitute x in from line of symmetry)
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